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logarithmic V , V,-data u, = (A - 550) / 50 logarithmic VI , V! -data u, = (A — 550) / 50 logarithmic V , V,-data u, = (A — 550) / 50 logarithmic VI , V! -data uy = (A —550)/ 501

logV = (logV,+ logLg)/2logiVl, = —0,35u)-u L logl =(log +loglLe)/2log  =-0,35u)\-u ] logV = (log+ logLo)/2logiVl, = —0,35u)-u L =(log +logLg)/2log  =-0,35u\—u ]

logV, =logV + 0,03 logLo = —0,35\~Us7q log,=log +0,12 logL o= —0,35)\~Us7q logV, =logV + 0,03 logLo = —0,35\~Us7q +0,12 logL o= —0,35l)\~Us7q

log [Vo, V , Vi, Lo] Adaptation: A, .=555 log[Mo, M, , Lol Adaptation: A | =540 log [Vo, V , Vi, Lo] Adaptation: A, .=555 ,Lo] Adaptation: A (=540
570 570 570 570

maximum maximum maximum - = maximum
log(Vm)=-0,03 i log(VIm)=-0,13 log(Vm)=-0,02
Vm=0,93 m=0,74 Vm=0,94
Threshold Threshold Threshold Threshold
t=0,00 [ t5=0,00 t=0,01 1 t=0,01

rf\
N

3 [ . . : 3
700 A/nm
DoPo->UaUo BE770-1N BE770-2N DoPo->UalUo BE771-1N BE771-2N
logarithmic L , L,-data u, = (A - 550) / 50 ithmi , - -data u) = (A — 550) / 5 logarithmic L , Lo-data u, = (A — 550) / 50 ithmi , --data =( —550) /5
logL = (logVi,+log )/2logM = —0,35[~U:.]] +log )2 log  =-0,35u\-u ] logL = (logV,+log )/2logM ;= -0,35L)~U:]] +log )2 Iog =-0,35u\-u ]
logLo=logL +0,12 log =-0,35U,-u ] = +0,89 log =-0350-u | logLo=logL +0,12 log =-0,35u,-u | = +0,89 log =-0,350-u ]
log [Lo, L, Mg, Adaptation: A, =570 . Adaptation: A =520 log [Lo, L, Mg, Adaptation: A, =570 Adaptation: A =520

maximum maximum maximum maximum
log(L m)=-0,12 | log(*m)=-0,89 log(L m)=-0,12 | log(" m)=-0,86)
Lm=0,74 m=0,12 Lm=0,75 m=0,13
Threshold Threshold Threshold Threshold
t=0,00 [ t5=0,00 t=0,01 1 t=0,01

BE770-3N )_( BE770-4N BE771-3N )_(
Uy =\ —550)/ 502 ithmi , -data uy = (\ —550)/ 5% ithmi , C.-data uy = (\ —550) / 502 ithmi , -data uy =\ —550)/ 5(%
=(log - +logLg)/2 log = -0,35u)\-u ]2 +loglLo)/2 log = -0,35u)\-u ]2 =(log  +loglLg)/2 log  =-0,35u\-u ]2 =(log +logLe)/2 log  =-0,35u\—u ]2
=log + 0 35 logLo = —0,35\~Us7q +0,59 logL o= —0,35\~Us7q =log- +0,35 logLo = —0,35\~Us7q =log +0,59 logL o= —0,35l)\~Us7q
, Gay Adaptatlon A =520 ,Lol Adaptation: A | =505 ,Lol Adaptation: A =520 . Lol Adaptation: A =505
570

ma><|mum maximum maximum maximum
log(“m)=—0,35] | log( m)=—0,59 log(“-m)=—0,34] | log( m)=—0,57|
m=0,44 m=0,25 m=0,45 m=0,26
Threshold Threshold Threshold Threshold
t=0,00 [ t5=0,00 10,01 1 t=0,01

3 uy i -1 1 3 uy 3 uy . 3 uy
5bo sbo 700 A/nm 500 600 700 A/nm ( ( ( ( ( ( 600

, -data uy=M- 550) /5 ithmi , - -data u, = (\ — 550) / 50 ithmi ' u, = (\ — 550) / 5i ithmi , - -data u, = (\ — 550) / 50
=(log +logM)/2log  =-0,35up-u ] ] = +loglLo)/2 log - = -0,35L)\—u ]2 =(log  +logM)/2log  =-0,35u\-u ] ] =(log  +logLo)/2 log  =-0,35u\-u ]2
=log +0,35 log V= -0,350)\~Uu:.] +0,35 logL o= —0,35\~Us7q =log +0,35 log ;= =0,35L)\~Us.] =log" +0,35 logLo= —0,35l)\~Us7q
! Adaptation: A ;,=490 , Lol Adaptatlon A =520 Adaptation: A ,=490 , Lol Adaptation: A =520
570

maximum maximum maximum maximum

y log(“m)=—0,35] y 4 ),
m=0,44
Threshold Threshold Threshold Threshold
tz=0,00 [ tz=0,00 t=0,01 1 tz=0,01

3 uy 3 uy
700 A/nm 5b0

ToDo->CaCo BE770-7N BoJo->MaMo BE770-8N ToDo->CaCo BE771-7N BoJo->MaMo
BE770-7R, 1 BE771-7R, 1

TUB-test chart BE77; Relative elementary colour vision input: w/rgb/cmyk —> rgh-
Sensitivities logLMS-R17_Mx (x=1,2,3,4pnd combinations; thresholgk0,00 an 1
Y
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